Vath 114 Fall 2005 DUINUD YUlZ 1 WO
SHOW ALL YOUR WORK

. (10 points). Here is an IVP that you have seen before:
y'(t)=3t-y,  y(0) =2
.. (4 points) Obtain an approximation for y(2) using Euler’s Method with At = 1.
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5. (2 points) Sketch your piecewise linear approximation computed in (a) on the slope field below.

Direction field o W o !\.ﬁ ﬁe, (d

; //////,:f; e,
LSS S S /5///::/,9:___%‘%% -excl (_{’

RN

A
I
)r\ }\
/
I
/

AN N N

LTI
N\ s
\
i

/
? j
/
-

My

: “\l\\ NN
TNV AN N
e SO\ VARNANR

0.5 1 1.5
t

c. (2 points) Find the equation for each line segment in your piecewise linear approximation obtained in (a) and
sketched in (b).
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For | &t vk - 47 2. (¢-f) = -2 +>t

d. (2 points) Based on the slopefield and your Euler’s method calculation, do you think the EXACT value of y(2)
is larger or smaller than the value calculated using Euler’s Method? Explain.
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